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Financial Management
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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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Define financial management.
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What is bonus shares ?
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What do you mean by Right Shares ?
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What do you mean by Leverage ?
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What do you mean by Gross Working
Capital ?
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(vi) Define Dividend Decision. 3. What is cost of capital ?
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(viil) What is IRR ? . _ _
4. What is Trading on Equity ?
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(viii) Explain the new concept of finance.
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forg T feRY™ 99eET 5. What is Gorden’s Model ? Explain.

Section-B 4x8=32 e Afed =1 & ? 99IEU|
(Short Answer Type Questions) 6. State the difference between fixed and variable
Note -— Answer any four questions. Each answer should not working capital.

exceed 200 words. Each question carries 8 marks.

feor T UREdeiar wrEfeha ISt § SR aEu |

gug—d
(Wﬁﬁ'qm) 7. What is EOQ ?
frder .- fFdll w® gedl & SR AT e o s W YR STRET A 1 T ?
Afreray 200 vis5l H 9iEifag wifSu) gd@e Ued

8. Discuss the scope of Income Management.
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2. What do you mean by weighted average cost of

capital ? 9. Explain the Lock-Box System.
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Section—-C 2x16=32
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 16 marks.
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10. Discuss the scope of Financial Management.
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11. Explain the types of leverage with appropriate

examples.
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12. What are the factors that should be considered

while estimating working capital ?
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13. Everite Ltd. is considering the purchase of a

machine. Two machine No. 1 and No. 2 are
available, each costing ¥ 60,000. In comparing the
profitability of the machine a discount rate of 10%
is to be used. Earnings after taxation and before

depreciation are expected to be as follow :

Years Machine No.1 Machine No. 2

1 15,000 8,000
2 25,000 15,000
3 20,000 25,000
4 20,000 30,000
N 15,000 22,000

Indicate which machine would be a more profitable

investment (Use Net Present Value Method).

Note : The present value of ¥ 1 discounted at
10% after the end of 1, 2, 3, 4 and 5th year is
0.9091, 0.8264, 0.7513, 0.6830 and 0.6209

respectively.
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|t wefi A, 1 wyftT A, 2
1 15,000 8,000
2 25,000 15,000
3 20,000 25,000
4 20,000 30,000
S 15,000 22,000
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e 1,2, 3, 470 59 99 w1 gEIE & 9 10% HI
e W qH: 31 F FaHH 7o wF: 0.9091, 0.8264,

0.7513, 0.6830 @1 0.6209 ¥
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